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WEST BENGAL STATE UNIVERSITY

B.A. Honours 6th Semester Examination, 2023

PHIADSEO06T-PHILOSOPHY (DSE3/4)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. 2NfEF FNT FIE TG 2T 3 et T |
Candidates should answer in their own words AR G O TR ST I Nl
and adhere fo the word limit as practicable. Bes IR

1. Answer any four questions from the following: 5x4 =20
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(a) How can we determine, according to Hume, whether a philosophical term is
meaningless?
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(b) What does Hume mean by probability of causes?
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(c) Explain with examples, the three principles of association, following Hume.
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(d) Are liberty and necessity opposed to each other? What are Hume’s view on this
matter?
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(e) How does Hume distinguish between propositions concerning ‘Relations of
Ideas’ and concerning ‘Matters of Fact’?
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(f) Is miracle possible? How does Hume explain it?
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(g) Distinguish between imagination and belief after Hume.
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(h) ‘Custom or habit is the great guide of human life’ — Briefly explain the validity
of this statement of Hume.
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Answer any fwo questions from the following: -
s emelm T -1 415 2ew Ted wies
(a) Is Hume a sceptic? If so, what are the special characteristics of his scepticism?
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(b) Explain and examine Hume’s doctrine of causation.
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(c) How does Hume distinguish between ‘true metaphysics’ and ‘false
metaphysics’? Does he reject metaphysics in every sense? Discuss.
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(d) Critically explain after Hume the difference between impression and idea.

RET S IR TG 8 YRR W AL D St @R {61 St

X

15%x2 =30

15

15

7+8

15




